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NEW QUESTION 1
An administrator used the Horizon Console to specify the Active Directory account for joining instant-clone VMs to the Active Directory domain.
What two permissions must be granted to the Active Directory account to perform this task? (Choose two.)

A. Grant Inventory Administrator role.

B. Write properties in the domain or in the organization units.
C. Create and delete computer objects.

D. Grant the Global Domain Administrator role.

E. Grant the Horizon Domain Admin role.

Answer: CE

NEW QUESTION 2
Where are exclusions specified for Writable Volumes to prevent App Volumes from persisting specific data between sessions?

A. config.ini

B. snapvol.cfg
C. svservice.log
D. json.cfg

Answer: B

NEW QUESTION 3

To reduce the risk of users downloading malware to the corporate network, an administrator wants to allow end users to open only intranet websites inside their
virtual desktop. Additionally, the administrator wants to configure all other URLs to automatically open in a browser on the end-user’s client machine.

Which steps should the administrator take to meet the requirements? (Choose two.)

A. Enable the URL Content Redirection feature on the desktop pool settings.

B. Enable the URL Content Redirection feature in Horizon Agent.

C. Configure group policy settings to indicate how Horizon Agent redirects the URL.
D. Enable secure website settings in the Global Settings Security menu.

E. Disable the Allow External Website feature in Horizon Agent.

Answer: CD

NEW QUESTION 4
An administrator wants to provision a new Golden Image but doesn’t see the VM in the list with golden images.
Which could be the cause of the issue? (Choose two.)

A. No snapshot was made after optimizing the golden image.

B. There is more than 1 active snapshot on the golden image.

C. The golden image VM is not configured with a CD-ROM player.

D. The wrong Guest OS Version was selected when creating the golden image.
E. The golden image was not optimized.

Answer: AE

NEW QUESTION 5
Which two capabilities are supported by VMware Dynamic Environment Manager Application Profiler? (Choose two.)

A. It allows individual user personalization of applications.

B. It allows creation of computer templates.

C. It allows third-party user personalization of applications.

D. It allows creation of application-specific predefined settings.

E. It analyzes registry and file system location settings for an application.

Answer: DE

NEW QUESTION 6
An administrator needs to change the message a user receives when using an old Horizon client. Where can this be accomplished?

A. Settings > Global Settings > Client Restriction Settings

B. Client settings in VMware Dynamic Environment Manager
C. Client Restrictions under Desktop Pool settings

D. Settings > Global Policies > Client Restriction Settings

Answer: D

NEW QUESTION 7

A user reports that sometimes they have issues using their remote desktops and published applications. What three pieces of information should be collected to
troubleshoot the issue? (Choose three.)

A. What exactly did the user see on the screen when the issue occurred?

B. Has the user reformatted recently to clean up old cached data?
C. Does the user’'s home PC have the same problem?
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D. What time was it when the problem occurred?
E. What was the user doing when the issue happened?

Answer: ADE

NEW QUESTION 8
An administrator needs to monitor Connection Server health by using a http request. Which command is the correct command to use?

A. GET https://<connectionserver>:22443/favicon.ico
B. GET https://<connectionserver>:9443/favicon.ico
C. GET https://<connectionserver>:443/favicon.ico
D. GET https://<connectionserver>:4172/favicon.ico

Answer: C

NEW QUESTION 9
What are two Cloud Pod Architecture feature limitations? (Choose two.)

A. Kiosk mode clients are not supported unless a workaround has been implemented.

B. Cloud Pod Architecture does not support Active Directory two-way trusts between domains.
C. Cloud Pod Architecture cannot span multiple sites and data centers simultaneously.

D. Cloud Pod Architecture is not supported with Unified Access Gateway appliances.

E. The Cloud Pod Architecture feature is not supported in an IPv6 environment.

Answer: AE

NEW QUESTION 10
Which storage product allows the pooling of resources to create datastores in a Software Defined Datacenter?

A. VMware VMFS

B. VMware vSAN

C. VMware Storage I/O Control
D. VMware HCI Mesh

Answer: B

NEW QUESTION 10
Refer to the exhibit.

Edit Pool - IC-Pooll X

Allow Separate Deskiop Sessions from Different Chient Devices
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Remote Display Protocol

Default Display Protocol
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3D Renderer
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Allow Session Collaboration [ Enabled (o)

Requires Vidware Blast Protacol

When editing an existing instant-clone pool, an administrator cannot find the option to configure the vRAM size in the wizard.
Referencing the exhibit, which could be the cause of the issue?

A. Increasing VRAM size is only possible for manual pools.

B. Modifying the vVRAM settings is not permitted when selecting VMware Blast as default protocol.
C. Modifying the VRAM settings is not permitted when selecting Manage using vSphere Client.

D. Configuring vVRAM size is only permitted during pool creation.

Answer: D

NEW QUESTION 15
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Which two scenarios are appropriate for a Cloud implementation of a VDI solution over an on-premises solution? (Choose two.)

A. The organization already has infrastructure to support a VDI.

B. The organization needs to setup high availability and disaster recovery.

C. The organization controls highly confidential data.

D. The organization has limited CapEx budget.

E. The organization needs to quickly scale-up in disparate geographical locations.

Answer: DE

NEW QUESTION 17
Which two built-in apps are supported and automatically added to the profile of a multi-app kiosk profile? (Choose two.)

A. Calculator

B. Microsoft Word
C. Microsoft Edge
D. Camera

E. Sticky Notes

Answer: AE

NEW QUESTION 20
The virtualization of physical resources after installation of a hypervisor follows a specific procedure. Drag and drop the procedural steps on the left into the correct
sequential order on the right.

Virtualization Procedural Step Correct Sequence

Create a VM and specify the required
hardware to run a specific OS Step 1

The hypervisor abstracts the physical

resources into virtual hardware Step 2
The hypervisor takes control of the
2 Step 3
physical resources of the host
Install a guest operating system inside the Step 4
VM, as done on a physical computer
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Virtualization Procedural Step Correct Sequence
| Create a VM and specify the required | The hypervisor abstracts the physical I
| hardware to run a specific OS |V resources into virtual hardware |
—————————————————— -1
_____ SR A A s e il I i o e e e e - e
' The hypervisor abstracts the physical ( 1 The hypervisor takes control of the I
| resources into unrtqal han_:lware. {1 physical resources of the host |

- A e wee E Ew e e e e G e e e s T T ™ |

Create a VM and specify the required I
hardware to run a specific OS |

| Install a guest operating system inside the = | | Install a guest operating system inside the |

| VM, as done on a physical computer . ' vM,asdoneona physical computer
_____ N |

NEW QUESTION 23
Which two steps must be completed in order to expand a writable volume? (Choose two.)

A. Select Volumes > Writables > Select Volume > Expand.
B. Modify the snapvol.cfg to reflect the new size.
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C. Select Volumes > Writables > Select Volume > Update Writable.
D. Specify a size which is at least 1MB larger than the current size of the volume.
E. Specify a size which is at least 1GB larger than the current size of the volume.

Answer: AE

NEW QUESTION 25

Users need to be able to log into Workspace ONE Access and connect to remote desktops and applications without having to provide Active Directory credentials.

Which Horizon component needs to be deployed to allow this functionality?

A. Enrollment Server
B. vCenter Server
C. Security Server
D. Replica Server

Answer: C

NEW QUESTION 26
A junior-level Horizon administrator is not able to see all RDS farms.
Where would a high-level administrator need to make changes to correct the issue?

A. Global Entitlements
B. Global Policies

C. Category Folder

D. Access Groups

Answer: B

NEW QUESTION 31

An administrator notices that a cloud pod is not in the correct site. What can be done to solve this issue?
A. Under Settings > Cloud Pod Architecture, select the pod and change the name of the site.

B. Under Settings > sites, select the site, and select move pod to this site.

C. Under Settings > Cloud Pod Architecture, select the pod, click edit and select the correct site.

D. Under Settings > sites, select the pod, click edit, and select the correct site from the menu.

Answer: D

NEW QUESTION 33

Which two required distributions should be installed on a Linux machine that will be used as a multi-session host? (Choose two.)

A. Peppermint OS

B. RHEL Workstation

C. Solaris Linux

D. SUSE Enterprise Server
E. Ubuntu

Answer: BE

NEW QUESTION 35

Which can be used to make sure only certain Connection Servers are used for a Global Entitlement?
A. Category Folders

B. Home sites

C. Tags

D. Access Groups

Answer: D

NEW QUESTION 39
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